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— YA SOILIEIA SR BT0IE DBIH| 42%200,0 1,600,000 &
— S2H| E21 34*150,000% 18] 450,000 &
— M2 424 104*130,0002%137)| 1,300,000 &
— &40t 1JH*50,0002 184D 50,000 &
— SASOHLIEIA 2EHEEH R S 208+100,0( 4,000,000 &
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= 39 2% = A 2HOH ~
— 4XI=E GlAHH | 3X=E Of| At CZA—E)_‘ MNE2H = 9
g = (A) (8)
— MASOILIEIA 23 EEH 2SES XS] 1 2,600,000 &
— A SOILIEFA JIEFR2EH] A TH(E0E %20, OOOOJ*1 15,400,000 &
— WASOILIEIA JIEF2YH] 2HAH(30Y *3,000& * 2,310,000 &
— BHASOILIEA JIEF2ZEH] 2MBI(30¥ *x7,500& * 5,775,000 &
— BHASOILIEIA DIEF2YH] JIEF2 Y| 1 2,200,000 &
— B S0OLLIEtA JIEF2EH| @2ld] 143%x200,000% 2,800,000 &
@ UHednsd st SE23H D1-2-1 2=¢9l
—2zEAdgToz O J|ES 500,000 500,000 &
—atgstALTZ 8 J|E S 500,000 500,000 &
m S2YTHESA™ HSHISZ223H E-D3-1-1 ¢
—Hoi NI AIY 22| & StMXIEH| S 42,000,00 42,000,000 &
—K-MoveAZAIY 24H & éAHIICth = 54 OOO( 54,000,000 &
(m] EXHDL?TI-I st E=2221H D1-1-1 3
—NE&Y 2GH| S 6,000,000& 6,000,000 &
m 2HLSH EH@I:IIEE%QIN D2-1-1
—HAANHSEL A 650,000&x32H 20,800,000 &
m &AM =TC HSHISE 23 H JIEALY 20,355,000 &
m (HSIRAAANSIHLR St S= 23 A
—=0l2u=2SstoelolalelXI& 5,100,000 5,100,000 &
—HEREAIUS =212 22" 2,200,000& 2,200,000 &
m ASEM2 HERBSESSH A1-2-4 T A 2|
—ASUX FES=2AF HEAHIA 100,000 100,000 &
m (st A 2E SEH A3-1-1 LI 222E
—dMA 23 L IIRE22 &5 23 200,000,000 200,000,000 &
m MOPHMNKRY SE|H C3-1-1 BMXA NS
EYNWHAIY SBASOFLIEFA -17,265,000& -17,265,000 &
—SEY8NEAIY SHAZZHOIHEI0] -6,850,000& -6,850,000 &
—0IZ2tEHIAY S22 HI& -18,410,000& -18,410,000 &
—0I2tEHIAMY 012vEH] -1,300,000& -1,300,000 &
—HerY 0l st ALY 300,000 -300,000 &
@ =2=LoNESHdH HstHISE23H €
—K_MoveA S A 30,000,000 30,000,000 &
—& & CHE ALY 20,740,000 20,740,000 &
@ S22 USHIEEZ2SH DI-3-4 ASWF -28,800,000 &
@ =NHuEH UstHSE23H D1-1-1 dliielw -133,000 &
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4AXF=E Ol ot [ 3XFF=E Ol AbOH o MEZA = A
2 g = (A) (8) S
@ ZHUEX HEHISE23H DI-1-2 =201 S -1,000,000 &
@ =HuEM HEHIS=23H D2-3-1 HAZALZ -52,950,000 &
@ SIS AIZAC (SIHISE33 2 DAY 2SS -50,079,000 &
@ (s NEHY e AHISS35H B7-2-1 (& -440,000
@ (s NstY e AHIS=E335H D1-2-1 2 =20l -1,000,000 &
@ iSRS LS WSAHS=23|H E1-2- 700,000 &
@ AcIae EH5|) BTCR2YE 22| JIEH2YH| 3X ~47,700,000 &
@ HOBHMINSA SHE| K C3-1-1 BAXA NS
—BH A S0FLIEFA -25,220,0009 -25,220,000 &
—8 A 22O} 0l -1,200,000€ -1,200,000 &
—S4ZH¥ -18,940,000€ ~18,940,000 &
@ NSTAHZ HWEAHISEZ3IH A1-2-4 TAHBDI
—220] BF 2 HA NHIA AF2E 12JH&+1,250,0 15,000,000 &
HE22HOWSEY WEHIS=S238H S-D3-2-1 ¢ -50,000,000 &
B S2X HEHISS2338H D1-3-4 AZUFAAL -3,798,000 &
B 0SS ASRC (HEHISS23H IS 2EY -42,181,000 &
W S22 HEHISE23 B6-1-2 S US4 -24,105,000 &
B OsS2ADNSHL (HSHAHS=225H E1-2- 500,000 &
W HMNSY SE3H C3-1-1 B NS -8,560,000 &
B 1,270,533,000 &
4300 A REHAYAH] 33,447,653 33,736,914 289,261
4310 & 3H| 395,300 395,300 -
4311 155,100 155,100 -
o1 1 H| ©® M2FAQIAS2APHIXS 36,000,0004% 144,000,000 &
© L OFfl MAIS BHLEE XIS O3 o Y|
—2d Z[ARA] 23] « 45J1F * 500,000 4,500,000 &
—>22d MA[HHX2I] 25 * 15412 * 10,000 300,000
® AlHIE 2eH=0IXI22 AH &2
—ed Zn[eRA] 23] « 4502 * 500,000 4,500,000 &
—s2d XA[MHALI] 23] « 15A12t x 10,000 300,000
m S FAAHDSIHL S AW S22 3| H E1-2
—=0/2H=2E50{2I0lA2IXI2 1,000,000 1,000,000 &
—OEHE Aol =2AZ 228 500,000 500,000 &
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AXIZDY OlAr | BREZZ ooty [ TEET MEDH 2 o
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Bl 155,100,000
4312 240,200 240,200 -
o122l OEEIvI=Ea-TinEINs-S
— SHRIMEIIZ SR ©FY| 100,000 3108l 3,000,000 &
® U 210l MAE BLke XIR0I2 ermaiy
— GAE U A 200 * 400,0008 800,000 &
— A £ Y HE 62 * 50,0002 300,000 2
— a2 02 [&el, A S] 100,000 100,000 &
—S¥a 2o 2 IE HOf # 1,000,000 1,000,000 2
® Alblst 2A=0IXIR O A ¢ 722yl
— QAEY Y HE 290 * 400,000 800,000 2
— Q& X HI 63 + 50,0002 300,000 &
— oo 2 0|=[Hel, A S] 1Y * 100,0008 100,000 2
— SYYNEE U BE 1} * 400,0008 400,000 2
—SUYY AN L SY BXE 4Y « 50,000 200,000 &
WS RAA DS R (S A S=23]H E1-2-
—=0/ AN ZSEE0{RI014 21X 2 190,500,0008 190,500,000 &
—IEHE A=A 2 B2l 45,900,000 45,900,000 2
® =X LEH eI S=382 DI-1-1 HA R ~3,000,000 &
@ ISIARADNINLR (et AHS=25 £1-2- ~200,000 &
Bl 240,200,000
EET 31,775,652 | 31,984.714 £209,062
4321 28,493,000 | 28,501,000 8,000
mEIES= ® 2®II2 Hol Fet NFIILS 55,000,0009 55,000,000 &
® KTE312 9l Ch4 220,000,000 220,000,000 &
© SYHEESZ 2l T4 240,000,000 240,000,000 &
® "=IHRE'8,000%+2,750,000% 22,000,000,000 &
® 2I12528°'8,0008*500,0008! 4,000,000,000 &
® BE S 40%+4,250,0002 170,000,000 2
® B2 ACIE] S 3024%6,000,0002 180,000,000 &
® 2122 S280H+500,0002+12H ,680,000,000 2
® 0 J|2EE
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AXI=Z Ol &MY | 3XHFE Ofl AFH ARy AEZA = %
o g = (A) (8) S
— JHCIJ1 =2 80,000,000 *25 D] 160,000,000 &
— DEAZWF 40 000,000& »25¢ | 80,000,000 &
—&lstiistd S22l 10,000,000& *25¢ 7] 20,000,000 &
— WA (AE HE W3 S)° 20,000,000 28t D] 40,000,000 &
— JILH (MOIM=ZER0l S) 1,000,000 127K 2 18,000,000 &
@ stE2dH &&=
— WX E&st= 4,000,000 %2571 8,000,000 &
m LSt WStA et B SE=21H E3-2-2 sty
—&EC 2 D12 D123 50,000,000 50,000,000 &
@ SHdX UsHISS33H E3-2-2 S =XX& -600,000,000 &
@ UK Ut SS=3H E3-2-2 M d=XAH 200,000,000 &
@ (s WsSiH Hel2HSE=2lH E3-2-2 sty -20,000,000 &
B ASEYNSE SE3H C3-1-2 Bdus22]) -8,000,000 &
Bt 28,493,000,000 &

4322 86,099 86,099 -

wEsta @ &8 10H*350,000& 3,500,000 &
@ stE=2dH g8t=
— St ZH &&= 21,000,000 28D 42,000,000 &
—AJ|A Y AIRA 228 (8,800%8AI2k*772 28] 10,842,000 &
— A0 225HM (8,800 *3A| 244 T x14Z= 428 J|)+¢ 2,957,000 &
— dHFeZ Y WFHTESZ (400,000 #1182 10,800,000 &
— B&%38= 4,000,000& %28 | 8,000,000 &
— E8%s= S 4,000,000 #2810 8,000,000 &

2[R 86,099,000 #

4323 2,257,052 2,440,067 A 183,015

agasl ® At2ISXIstE 25|
—SHAUSESEYESE SHUREYS 1,000&+3008+2,5( 675,000 &
@ HetHISSE=21H Hstg XA 284sI| A 5,000,000 &
@RI stusHEAEH 80,000&+80 6,400,000 &
@St S5t st A sH) 100,000& %150 15,000,000 &
@ st SS=3sH UsSis AN EAME 25 a5 A 1,000,000 &
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@ HstISSEsaH Hssd XA d8asIIA
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@ 2Asstl Podds 28
—tSst) Yaas EEE 2,000 %370H+23
m et A=A (HSHISE 33 H 48 A ST A
m st HHStHISSES2H &84 SII A
m et A=A (HSHISE 33 H 28 A ST A
m CHStSIAFAE (HSIHISSESeH 48 ASII A

132,500,000 &
40,000,000 &
5,000,000 &
6,000,000 &
22,000,000 &
52,000,000 &
2,000,000 &
50,000,000 &
5,000,000 &
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353,800,000 &
190,180,000 #

80,400,000 &

98,445,000 #
258,000,000 &
240,657,000 &

25,300,000 &
250,700,000 &

5,400,000 &
33,955,000 &
19,000,000 &

2,000,000 &
90,000,000 #

1,480,000 &

800,000 &
2,500,000 &

1,480,000 &
-2,000,000 &
-1,000,000 &

-123,000,000 &
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o = 202131 HIYE | 20213 H S = ;o
AXIZEH Ol At [ BRI o AtY SoB A= 2o
= g = (A) (B) L)
NEEREREREIEEE R ~3,400,000 &
W CHEHS AL RICH (IEHHI S =235 A8 AS I RHH ~2,000,000 &
W CHEHE AIZERICH (HBHHI S2 23| H A S Al | RH ~20,000,000 &
W CHEHS A= RICH (HEHHI S =235 H A8 AlS I RHH -3,000,000 &
W CHEHE AERICH (JBIHI S22 23| H n]HT2 ) 537,918,000
m CHEHS Al RICH (IEHHI S =235 H D] &2} 352,570,000 &
W CHEHE AIZERICH (HBIHHI S2 23| H A S A I RHH ~73,000,000 &
@ (i35 Al=RICH (HEHHIS= 25| H &8 AS IR ~772,000 &
@ 55 AERICH (HBIHIS= 25| & 8 A RHH ~5,086,000 &
@ [JIZAIR] DAL HEHIS=2 5/ H Al-
—OHH B D ABAISH| A8 11,000,000 11,000,000 &
@ (i35 Al=RICH(HEHHIS= 25| H &8 AS IR ~573,000 ¢
@ 55 AERICH (HBIHIS= 25| & 8 A RHH -9,382,000 &
@ LSS AZXICH (ISHH|S=25|H A ASTI I ~5,091,000 &
@ 55 AERICH (HBIHIS= 25| & 5 A RHH ~10,800,000 &
@ (55 Al=RICH(HEHHIS= 25| H &8 AR ~2,000,000 &
@ [DISAR] DASENLS HBHISE 23| H Al-
—ATZEYO AFRA L ABASH A8 422,000,000 422,000,000 &
@ 55 AIERICH (JBIHSE25|H n]HIT2 ) ~267,667,000 &
@ (i35 AlZRICH (HEBHHS=25|H ] E 2N -319,648,000 &
@ 55 AERICH (HEIHISE 25| &5 A RHH ~12,898,000
@ 2S5 (BHHIS= 235 S-C1-3-1 A QHE? ~1,026,000 &
W OAIEES (HEHHIS225H C1-3-1 A8t XEHF ~1,881,000 &
WSS (BHHS=S235H C1-3-1 A8t U= -8,199,000 &
HDISAS] D4sEHLS EHIS=23H Al ~53,500,000 &
W Ois S AERC B ES235/ ) R8T 2]) ~119,066,000 &
BASEMDSS SHs|H C3-1-2 HHDNSTI2) ~1,260,000 &
WO EADSS SH5|H C3-1-1 BAXA DS 891,000 &
I 2,257,052,000 &
4324 186,920 188,190 A1,270
=2AAE ® =2XSH X2
'— =2 X CH| AAF70,0002 %120 AAFI %20} B 76,800,000
© =2 A A X2
'— =2 )L AAR] A AF 30,0008 5752 AIAFSISIx2 T 19,500,000 &
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= 202131 HSE | 202131 HSE = roron
ARIZZ Ol [ 3REED Ol Lt . MED 29
o g = (A) (8) (A8)
"~ =2 001 & ABI A AL 30,000%75% Al AFSI 2 x20f 4 19,500,000 &
'— =22 AAH] A AL 30,000%75Z %200 8| +8EAH C 34,500,000 2
CSMERNA AY M HE 2S5 XS
— QIROIAIY, ST SN M B, 2SI, 13,500,000 &
® HstA DSt et S=233 DI-2-1 2=¢l
—QZOE ZSAIE A2 500,0008 500,000 &
—QIZOEU ZEAIE HAR 400,000 400,000 &
—920|E =24l 4,500,000 4,500,000 2
—Q2EAM =2X T S2H| 4,500,0008 4,500,000 &
® iSRSty (ISIREIS=235/ B7-2-2 ()5t 14,490,000 2
WHstimsty (Het S =23 H D1-2-1 2/ =29 ~1,270,000 &
8ll: 186,920,000
79,613 79,302 311
® BAEDS XA : 1,000,00021+30 23] 60,000,000 &
® 22 E DY
— 2L E DI 500 *3,0002 +27H 5| 3,000,000 2
® ZHAE D IR
— DWLE RS 1,000,000 25| 2,000,000 &
© ZHE ALY DUIE S
— MTHR ZHLH XY F3t 4,000,0008 %28 ) 8,000,000 2
AFAS ZHYF KB Ft 200,0008 %180 #2¢ 72,000,000 &
® ST AL
— SEU AT 2250008 *4 D 225 1,800,000 2
— MR EED 250,0008 %1 B *251)| 500,000 &
— DERAFED 2250008 *5 2 2+ *25 )| 4,500,000 2
— 0|21 X} &EED 225,000 1 & *25t | 450,000 &
— JIEFREID 225,0008 *1 DR *42 %251 1,800,000 &
SIS
— B A SOILIEFA BHHIZEH 1,500,000 *3% +23] 9,000,000 &
B4 A 22201340 0] BHHI 2B 500,000 %1 H*23] 1,000,000 &
W AHOEMDSH S| 03-1-2 BMRST27)
—SHYRAY MASOHLIEIA -4,500,0002 ~4,500,000 2
@ ISt msty HStRIHISS28H B7-2-1 (8t ~78,876,000 2
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ot = 202181 A | 20218 HHE = A opoi
4XtF=Z CllAtH | 3XtF=E Of| ArY oo ME2H = 9
o g = (A) (8) (A8)
@ HOHMNSA SYSH C3-1-2 BMUSI27)
—&st=2 -3,372,000€ -3,372,000 &
—= s st T 2,000,000 2,000,000 &
B AISISAMHE IEHHISE23H C2-2-1 B3
e HAHENSXAESZ 3,602,000 3,602,000 &
B S 0sHY WU S223H B7-2-1 = -2,991,000 &
B EM NS SEEH C3-1-2 M NSI27) -300,000 &
8 79,613,000 &
4329 672,968 690,056 A 17,088
JIEt& M A ® HE2S2XAANY SHELEHIA

—SYUEE L S| HHEQIE L 39,535,000 + 77,000,000 &
® A)| St
—QBAIL0IRSLHHIHN S SHES2 100,000 70,000,000 &
® FHUAHNSHUS ALY

— FAAAHNSEHUS AR 6,000,000 6,000,000 &
@et=HHA=L IS ALY
— 201 LGIIITHE], HUE S SHALAEH| 500,000% 500,000 &
— 224 £ 10,0008 %5013 500,000 &
@82 0{eI =L NI ALY
—HE ZHZLAE S 2018 AL 20,0009 %5 4,000,000 &
—HEII2t 5 SEXHA 20,000+50H 23] 2,000,000 &
—Q =2l s AGHX| Y 10,000 %50H%435] 2,000,000 &
—Q20IREHM T 16,400 *50H 23] 1,640,000 &
— Q2|UHOIA, HANUNE S ZIHFRAMA 1,000,000 &
—'QI20IstMol U = J|EFEH AL 20,0009 %50 1,000,000 &
—gs Z SR SIS T 2 8 50H%800,00( 40,000,000 &
—Q2 25 E L JIEtSHAHIE 50,00024+50H %103 25,000,000 &
@EAATZEH 1, 11)
—AH| 405,500 %241 20 8,800,000 &
—2 W IHHI 40E 10,000 400,000 &
—AlH| 130Q %5,500 2 *3AIx20 2 x2 3] 85,800,000 &

59/77




= 202131 HSHE | 202131 HSE = ;o
ARIZEZ OIAY 3R Ol At Taoy B2 2
o g = (A) (8) G
—2 D THE 130%%10,00021%23] 2,600,000 2
OFnEE-EETE=
~ D8 % YIS HIH| 2+90,0008 180,000 2
— AEHAN 224l Y 24| 702+50,0008%251 )| 7,000,000 &
— AEHAF OT2YH| 70%%30,00081%23¢D)] 4,200,000 2
— MGA DS Z208 2% 63+150,00081%23¢))] 1,800,000 &
— AGA DS T2 2% 63+70,0002 %25 +4 1,290,000 2
— DOHARILE 24H| 951%400,0002 +281 )|+ 4T 8,820,000 &
© AENLTSA IS
— 291l 1102%210,000 25! ] 46,200,000 2
— AlHI 1102%10,0002 *12A1%25¢ )| 26,400,000 2
— 2| 110 #424450,00081 %23t )| 44,000,000 &
— 2HAIHI 1102 %2,0002 *55 %254 2,200,000 2
®© Yaspus ey
— BIZAALR D41150,0008 %3 450,000 &
— PIEAALE SBIATHUIO0IH:100,0002 %11 1,100,000 &
® Yasa)
— A9} Q2IOEIOI& 7T HHOI K 2 ALHI:300,0008 %2 600,000 2
— BH AEDIE UAER DS ZAMI:500,0002 0
SH AMEEDIE QABRIDS YAI:500,00020 %12 500,000 &
— Ol DEAE WSAAI100,0008 %119 1,100,000 &
Z24T 4L A4S X13:100,0002+8%+23] 1,600,000 &
— SARIAHUIOIN 2 AHIH:75,0008 *40H 300,000 &
—AXHE AHHIOIM FSAHEI® 2AHHI:100,000 9,000,000 &
— OIE1 £RAATHHIOIN & EAHUIM 2 AHI:50,0001 8,400,000 &
— O AIOI T S84H|:100,0002 *11Z+43] 4,400,000 &
— 2= HO0lA Y LHXI:3,2002100H 320,000 &
ORNI=¥ ST
— MElZAF ©7 TY:MBTIEOHRI 4,8008 %400 1,920,000 &
— M2I2AA £ YK WAIS IV 160,0002 2 320,000 &
— MeI2A £ 7 2J:STRONG 5,50081%100% 550,000 &
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— HeIHFHHI M AEZ:120,000& *34021%0.9 36,720,000 &
— JHeIAFHHI M AE 2:180,000&x024%0.9
— EXFZ eI Z:60,0008+1024%0.9 540,000 &
— RSIMAAEZ:30,000&*10024+0.9 2,700,000 &
— MMPI,MBTI,STRONG & 2| Z AF:10,000&*021%0.9
— et SHIE 2l A AH180,000&*3024%0.9 4,860,000 &
— 220, S SHIHC & AH250,000&%224%0.9 450,000 &
© =gd=x2e

— =& D ItE M A:300,000& 300,000 &
— ot Y MZE:4,000@%1102 440,000 &
— S84 2 2= MZA:2,000,0008 12 2,000,000 &
— g4I Y EES MA 2124H]:150,000& «3H * 450,000 &
— JtHE &4:270,000&*13] 270,000 &
© SHOIX2teldl

— ZMHIO0IA = X22/8]:110,000&*123] 1,320,000 &

— SHOIA T8 Ae01=: 3,000,000& 3,000,000 &
© =M= 2

JrJj2t ¢3ld1:600,000& 600,000 &

© BN EX M

— 50&*10,00004 500,000 &
© SHZ 2 greld M

— SN2 Ul M2 6,000 %300 *184D| 1,800,000 &
© St 2 AA XA 20,000,000 20,000,000 &
© LEA XA
— UEIA OHL AICHHl 10,0003 50«3 x4 3] 6,000,000 &
— Q2| AHO0IE AlTHHI 10,0003 *40F x25! | 800,000 &
— 2c2|0lElI0lE el4d] 400,000 254 )| 800,000 &
— 3& HE ALY, CHatHl 12,0003 *10Y x4 3] 480,000 &

S& cld 1= AHHl 10,0003 x40EH 63 2,400,000 &
— 3% 2l u=s 2tAHl 2,000 x40H *63] 480,000 &
— S8 2l WF ZAI= 75,0002 x4 H+43] 1,200,000 &
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— SAZ2MYI| 22IE 250,000 20 5,000,000 &
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© ME OtM T2
— AYER 2bAIH] 500,000 %25t 1,000,000 ¥
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— AHAMSE D8 AQD2EH| 300,000 +63] 1,800,000 2
— A AME DS ACHH 10,0002 +15% «63] 900,000 2
© MED XS D28 U MBI
— QUAMA AIZIZIAFRI 5,00091 1,700 %25t 17,000,000 &
@ MEBR HS T2 W U MBI
— MSH3] AlCHHI 10,0002 x300% 23] 6,000,000 &
— HSO3 A=Y 10,0002 %100 23] 2,000,000 &
@ BHAMED Y D)}TR )Y
— AEIEHIOIZ ZALZ 75,0002 %2 A1 2H1 25 %254 ) 3,600,000 &
— AEFEHIOIZ AITHHI 10,0002 %20 x5t )| 400,000 2
— AUB 2 OHSI| BAZ 75,0008 %335 %10Z= %25} 4,500,000 &
— A2B 2 0S| AlTHH] 10,0009 %20 *25! )| 400,000 &
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o = 202131 HSE | 202131 HSE = roron
ARIZZ Ol [ 3REED Ol Lt . MED 29
o g = (A) (8) (A8)
— O DI UE LA 75,0002 +2AI 2103 %25 3,000,000 &
— OIS UE ATHYI 10,00081%202 25t )| 400,000 &
— 9452 DILb= MlA ZEHXIRHI 12,00021%20 63 1,440,000 2
— 52 OHLb= Ml AICHHI 10,00081%20%+63] 1,200,000 &
— &2 21 ATHEI 10,0008 %362 x43]x25¢ )] 2,880,000 &
— &2 2ICI4 2HAIH| 80,0002 25t 160,000 2
— 2216101 29 AlCHHI 10,0002 x40 *63] 2,400,000 &
—JISD ANE S YHEY ST VAR 75,0002 900,000 &
— IS ANE FAS FLER ST ATIYI 10,0002 3,000,000 &
—JISD ANE S FHEY ST DY 5,0002 380,000 &
W OIAIHL R CHEIHIS =35} B3-1-1 )| X8t &
—DELXERAY, 2B, 2E 7l S 44,300,00 44,300,000 2
—=58H], AlH|, 2FAlH| 26,400,0008! 26,400,000 &
W ATXDSR (SHSS28H S-83-3-1 ot
—E RS AT ZEXE /5| KA Z% 28,000,00 28,000,000 &
W AL MBI SHEH Al-1-6 SMETALIHAY ~5,600,000 2
W A MDY SEE Al-1-7 BHASSTAEA
—HIZHE DI& Al -8,000, ooo% ~8,000,000 2
W A MBI SHE Al-1-8 | SAB LY ~14,580,000 &
B A M ST S 5] 53—1—1 plEL T
—HIDVHER I 24 -9,000,0002 ~9,000,000 &
W AL M S5 B5-3-1 AESSMAGTR
—A2IBAK EFEAN KIRO2 B —17,000,0002 ~17,000,000 2
@ =HDEH WS S=225) D1-2-2 YA=2UXS ~65,000,000 2
@ =HDEH S S=33/3 D2-1-1 A=R0 5 ~97,600,000 2
@ XIS AT AME (SIS =23 B4-3-2 R0}
D0 ZOEY AR HETIE A 7.200,0008 7,200,000 &
@ ATEDEE (S S=33H S-B1-1-3 B3 ~15,000,000 2
® i A HIEl (ISt RIIS =25 Al-1-3 ADIE ~800,000 2
@ UAACHHIE HSIRHISE28H B5-2-3 M2 2,489,000 &
@ UisACHHE (ISIRIEIS=35/2 E1-1-2 DY ~100,000
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o = 202131 HSE | 202131 HSE = roron
ARIZZ Ol [ 3REED Ol Lt . MED 29
o g = (A) (8) (A8)
@ UAMED SHEH Al-1-6 SFM=IALHAY
—2HAELS BT 2 720,0008+787 56,160,000 2
—HHAELR R4 O/ X 71 202,000 *787H 15,756,000 &
—HHAEI2 WD 2 990,0002*30H 2,970,000 &
—AHAEIR Z22421S 72 4,134,0002 4,134,000 &
—HHAES AFI| 2 1,199,0002#30H 3,597,000 2
—HAELR QISA 22 550,0008+3CH 1,650,000 &
—HHAELS WihEI] 22 2,300,0002 *30H 6,900,000 2
W =RDSH HeHIS=28H 01-2-2 222N ~5,000,000 &
WS A MEACHHIE (I8 S=25 ) B5-2-3 B2 77,000 &
WAZXDER HSHISS28H S-81-1-3 M2 ~9,250,000 &
WS ASAIE] IS RIHI S 23512 Al-1-3 ADIE
—~ZH0IX SOHIeI22I6IE 110,000 13 110,000 &
WM ACHAIE (NSt RIHIS =28 H B5-2-3 M4 ~270,000 &
WSS D SEE| AT-1-8 D SAIBE L 2} ~1,816,000 &
WU ME D S50 B3-1-1 )| XSS A2 5| ~939,000 &
%] 672,968,000 %
4330 A2l ] 1,276,701 1,356,900 80,199
4331 576,520 578,500 A 1,980
INES= ® EH+Y
— Al TH2I=21 4,000,000 4,000,000 &
® Uete EX 42 XS
— ERH £Z 102+100,0002 1,000,000 2
OIS
— Al TH2I=81 20,000,000 20,000,000 &
— ®AI-Z=J12% 9,000,000 9,000,000 &
— 2l 1,000,000 1,000,000 &
© Uotel A4S g X3
— S £ 302+ AI2H*100,0002 3,000,000 &
® Zolag
— Al THRI=1 143,000,000 143,000,000 &
— FAI-Z=JI2E 24,000,000 24,000,000 &

64/77




20213 HH

20213 HH

n; = 39 2% = A 2HOH ~
4XI=E GlAHH | 3X=E Of| At oo MNE2H = 9
& g = (A) (8) (A-8)
— #2l 11,000,000 11,000,000 &
© e I =2 X2
— Il =Y HEAH 10¥*100,000& 1,000,000 &
— "ot =g A, HE &I 60E*200,000& + =] + 21,000,000 &
© Z=H|-dd+=Y
— == Al- Q=81 99,000,000 99,000,000 &
— &AI-FIH2E 68,000,000 68,000,000 &
— el 14,000,000 14,000,000 &
© st =4l - A =9 X Z
— &4l - 8 =2 MI| 25Yx53/%200,000& + = 34,000,000 &
© dgotl=Y
— = Al- M Q=21 76,500,000 76,500,000 &
— &AI-FIH2E 29,000,000 29,000,000 &
— el 3,000,000 3,000,000 &
® 3|ol=¢&t
— = Al- Q=81 3,000,000 3,000,000 &
— &AI-FIH2E 2,000,000 2,000,000 &
© s 3o =9 X3
— 3o =& HI| 15H*33[%200,000& + FI| 15H* 12,000,000 &
@ 222 HstHISE323H B6-2-1 AI=ZE22 -30,000,000 &
@ 222 HatHlsE32H B6-1-1 LAIHEH -7,000,000 &
@ 222 HstHISE323H B6-2-1 AI=ZE22 50,000,000 &
@ 222 HatHlsE32H B6-1-1 LAIMEH 17,000,000 &
@ 222 UstHISE 23 H B6-1-1 LAIMEH -10,000,000 &
@ 222 HEtHSsE322H B6-1-1 LAINMEH -20,000,000 &
W st HetH SS23H B6-1-1 YA A -900,000 &
W 2st2e|d tHetH SS23H B6-1-1 A& EH -3,700,000 &
W st HetH SS23H B6-1-1 YA A -14,390,000 &
W 2st2e|d tHetH SS23H B6-1-1 A& EH 32,020,000 &
W st HetH SS23H B6-1-1 YA A -15,510,000 &
W 2st2e|d tHetH SS23H B6-1-1 A& EH 500,000 &
Al 576,520,000 &
4332 700,181 778,400 AT8,219
2 Al ZHI @ Al-Helst D& E2H|
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= 202131 HIYE | 20213 H S = ;o
AXIZEH Ol At [ BRI o AtY SoB A= 2o
= g = (A) (B) L)
— i3t Al2 23] 35,000,000 35,000,000 &
— oisrelstE HEats| 24,000,000 24,000,000 ¥
— 2 AlEHEEEEDIE 2 21| 16,000,000 16,000,000 &
— FAlBI2 S &I 2 21| 15,000,000 15,000,000 &
— M2EXZD 25,000,000 25,000,000
— EBSTHZ D 20,000,000 20,000,000 ¥
— <@ XSZD 15,000,000 15,000,000 &
— BRI, A=E 2D 20,000,000 20,000,000 ¥
— BI2E WS E 23, JIEFZ D 21,000,000 21,000,000
SEEE PN

—olst@e|Z208 S22 30,000,000 30,000,000
— AJI2Z SX 24 5,000,000 5,000,000 &
— QML 222 140,000,000 140,000,000 &
—JIEFL Al 22 2,500,000 2,500,000 &
— BIMEZE N2EIFAIAE 6,000,000 6,000,000 &
® 3loH|
— 2t M8 23 4,700,000 4,700,000 &
—SMSZESAME 2! 5,000,000 5,000,000
—oE L AJ DAL 2RIEH 2,000,000 2,000,000 &
— MAFRFE 312 500,000 500,000 &
® YPE LA
— 22 MR 2 25 13,000,000 13,000,000 &
— TAE HIE 15,000,000 15,000,000 &
— MEOHHKIZ2 A 10,000,000 10,000,000 &
© Al-HOISH QA Ol
— 2 AIQ A Q2 48,000,000 48,000,000
— 2 AIZAE 5,000,000 5,000,000 &
— 2 AIZ=QAMEIE X 3,000,000 3,000,000 &
— HAIRZE Q2 33,000,000 33,000,000
— MAIEAE 5,000,000 5,000,000 &
— HAIZQAFEEZ 3,000,000 3,000,000 &
— B QY 8,000,000 8,000,000 &
— HYFQAIEEZ 2,000,000 2,000,000 &
— J|EFRI4HHI 14,000,000 14,000,000 &
© 2P|
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o = 20213/ HE | 20213 A S = roron
AXIZ Ol A [ BXIZA Ofl AtoY Sos A= 2 o

= g = (A) (8) L)
—Xeel 2,500,000 2,500,000 &
©® AREY|
— 2AABE 10,000,000 10,000,000 &
— FHAABE 10,000,000 10,000,000 &
— BOIAQE 3 000,000 3,000,000 &
— JIEFABE 1,000,000 1,000,000
® 2ze2
— 2B Q2 1,000,000 1,000,000
— =4122 3,500,000 3,500,000 &
— AEAIZ 2ZQ2 27,000,000 27,000,000 &
® AlH|
— 2 AlAIH] 2 2FA! 45,000,000 45,000,000 &
— FAIAIH 2 2FA! 20,000,000 20,000,000 ¥
— BQAIH 2 2HA! 1,000,000 1,000,000 &
— JIEFAHI 5,200,000 5,200,000
© USHADE N DA O
— AT Y 5,000,000 5,000,000
— FHAIDD Y 5,000,000 5,000,000 &
— BB YL 3,000,000 3,000,000 &
— D" HE3|, 22 S 01H110IHE 5,000,000 50,000,000 &
® =312
— =2 300,000 300,000 &
® AlEAIZE
— QIBEB |2t AIEAFZ 2 30,000,000 30,000,000 &
©BERBSY
— 294, E#2 = 5,000,000 5,000,000 2
© fstS QA X2
— AALEAl QBHES 43+800,0008 + I} UBHAE 5,200,000 &
W 222 R (HEHIS =252 B6-2-1 YAIZEO) ~71,997,000
WSR2 HEHIS225H B6-1-1 AAIEEH| ~4,100,000 &
WSR2 HEHS=25H B6-1-1 LAIFE | -5,014,000 &
WSR2 HEHISZ 25 B6-2-1 AAIZHO) -6,657,000 &
WSR2 HEHISE25H B6-2-1 YAIZH O -9,320,000 &
WS 2R HEHIS=25H B6-1-1 LAIME A ~1,000,000 &
WSR2 A B HIS=25H B6-1-1 QA F S A ~11,708,000 &
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20213 HH

20213 HH

i3 =1 39 2% Z A2t ~
- — AXFEZ Olat | 3R ooy r) HE2 2o
= g = (A) (B)
W22l et sE322 A B6-1-1 LAIE S 18,698,000 &
B 2SS 2 HStHISS 23 A B6-1-1 LA S -15,800,000 &
W22 et sE322H B6-2-1 YAI=22 -25,176,000 &
B 2SS 2 HStHISS 23 A B6-1-1 LA S -180,000 &
W22 HEtHlsE322 A B6-1-1 LAIE S 55,535,000 &
B Ususty (HeJHISE23H B6-2-2 55 -1,500,000 &
BHAI: 700,181,000 &
4400 W=2Hl= 4,253 2,603 1,650
4410 XIZ20| At 1 1 =
4411 1 1 -
Xl 20| At ® MIIXe2 0k K22
—=Z=X 1,000 1,000 &
Rk 1,000
4420 JIEI DR 2HI S 4 252 2,602 1,650
4421 4,252 2,602 1,650
Al ® ==X 1,000 1,000 &
@® &z=a
— J|Et &z=4 2,000,000& 2,000,000 &
m CHEIRAAA NS IHL S (HEAHIEEZ3H E1-2-
—20203HAHAE =21 HH=H Bt & Ol XF 1,041,0C 1,041,000 &
m] MOPHM)F E3H C3-1-1 BMHIAN=T
—DIZ2tAH| Al s =2 840,000& 840,000 &
® NM=E2X sty 23| LEALHISE=EZ) & -1,000,000 &
@ MOtEMI= Y3 A C3-1-1 EMAANFH -280,000 &
HUssAFR StH| S H EraEaAl (W) &
—[HSHS A X RAFSE AP Hl ZAF ZDH0 2 &= 1,650,000 &
sH| 4,252,000 &
4500 A== = = =
4510 =2 — — —
4515 — — -
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20213 HH

20213 HH

AXIZEH Ol At [ BRI o AtY = A= 2o
= g = (A) (B) L)
SH3|HAE2
8 -
4516 - - -
UEE2
B -«
4600 OllH1 U] 42 572 58 641 16,069
4610 0llHIH] 42 572 58,641 16,069
4611 42 572 58,641 16,069
ofl bl 1l @ D& HEHIS=235 A oldibl 22l odlb] : 30, 30,000,000
@ JI&H W FHIS =235 olblb22) olbibl : 1 10,000,000 &
@ JIEH NSBADSASSES oldlbl22] oty 10,000,000 &
© DB H HstE Y SEs A odibl2el oldly : 82: 82,887,000 ¥
® D8 H WA AAS S| H olHlH 22 obiY 10,000,000 &
@ JI&H JISAFSE 3 olblbI 22l oyl 10, oo 10,000,000 &
@ I8 MOt EAMDSASHS A oldlHl 22l oyl 9,475,000 &
@ I8 HEHIS =23 oldlbi 22l ollgl 1%t 3 30,000,000
@ JI8X HEtY LS| herL D obibl 22 oy ~52,887,000 ¥
@ I8 SXI2ESE3H oldlbI 22l olblbl 1t 3 18,668,000 &
@ J|BIH MAGASHES|H oHIHI 22l odld) 1% 2,726,000 &
@ JIEH JISAIS S5 ofdlblI2e) oldlbl X =3 2,116,000 &
® DS X CHEHIS=235/2 olbIbl 22! 0llbld] 2% 2 ~15,000,000 &
m 2N SIS =23 ollHlH 22l tlbl 2% 50,000 ¥
@ &K (HSHHIS=235/ oltidl 22l 0HIb] 3% 2 -2,876,000 &
@ )= SIS =23 OBy 22l olblHl 3% ~7,050,000 &
@M NSNS S35 olblb22 ot -8,000,000 &
@ 2 (HEtYTSE s herY gobib 22 oy ~27,392,000 ¥
@ D= LAI2=ESH ovlHl 22l oYl 3x+ E ~17,000,000
@ =X WAIAASHES I ot H 22l ofHlHl 3% ~10,485,000 &
@ D& IS AFSE S oldlbI 22l olblb] 3%t i% -9,116,000 &
@ =X MM NSASESH ot 22 ofdld ~7,475,000 &
OIS EHIS=23 2 oiyii22) bt 4% 3 ~22,124,000 ¥
WOIE (St HS =253 ofdlbl 22l olulb] 4% 1,098,000 2
WOIEX stugsSEs| ) oete ot 22l oy 5,100,000 &
WOIEd SAMI 2S5 olyli22l bt 4% 3 -1,000 &
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o = 202131 HSE | 202131 HSE = roron
ARIZZ Ol [ 3REED Ol Lt . MED 29
o g = (A) (8) (A8)
" BEEEEREEEEEEEEEEEEEES ~142,000 &
8l: 42,572,000
1200 S XD EIRANAI S 16,043,095 | 14,932,405 1,110,690
1220 EX XA E 189,000 189,000 -
1221 - - -
EXNRINISANA
1224 - - -
StDIIYEXNE
B8l -
1229 189,000 189,000 -
JIEFERIRHA K| & ®UHEE2 +
— ATHA UHESS 22 200,000,0002 200,000,000 &
@ BHMTD SHN MBBOALUYSEX JIE
— A AER AlGE QT E S 2 30,000,000 30,000,000 &
—OLAEIE AlY QI E S 2 20,000,000 20,000,000 &
=) ) S8l A3-1-5 DIEFR LAY )
—HIEtal PIEtelR TIPS S 10,000,000 10,000,000 &
e =T FieteH A S2 3,000,0002 3,000,000 &
® X HStHIS= 232 SXQHIIER A2 (HI€ ~74,000,000 &
8H1l: 189,000,000
1240 JIEIXHAT X & 1,004,831 1,004,831 -
1242 - - -
ANTPE2XE
8l - =
1243 - - -
IO BNE
2] - =
1249 1,204,831 1,204,831 -
JIEFRHA R & ® =2/ HetHIS= 33 H £3-2-1 REAS M=
—DEY =SAHH 25/ 2 1,346,000,0002 | 1,346,000,000 &
mESEIE

—121,169,000

&
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o = 20213 HE | 20215/ A%E
- AXIEZ OlAMY | BRI O Abo 2 29
2 g = (A) (B)
BHI: 1,224,831,000 &
1250 A2 =)| 2= g - -
1252 _ n
e
BHI: - 2
1253 - -
o=
BHI: - g
1254 - -
ag=E
BHI: - g
1255 - =
EES
BHI: - g
1260 Yo == & 14,629,264 13,518,574
1262 88,000 88,000
olojI )| 2 ® 2=
—0I Xt 79,900,000 79,900,000 &
—HBEOIAEZ 18,600,00002 186,000,000 &
@ =X st E=25H JI222(HIS=E2) 22
—OIXFRE % —10,500,0002+& 2 Ol | R 210K —16] ~177,900,000 &
BHAI: 88,000,000 &
1263 1,930,326 558,340
oo =) 2N ® Ao A=I|ZHE
—0I Xt 454,100,000 454,100,000 2
— S ZEOIA B2 124,990,000 124,990,000 &
—S=235|H H22 A2 2,735,396,0008 2,735,396,000 2
WX EtHIS=E23 7 JI222HISE2) 2o
—S=235H 2224424 —1,000,000,0002 ~1,000,000,000 &
@ =X HstHIE2235H )22 (HIS=2) 2o
—O| KEEI 21O —21,000,00091+ 4 28 0l 4| X 2 o 250 ~20,750,000 2




—=Z2E =z 2= 11,000,000, OOOOJ

_H|E§Z§|j;” %O|EI—IEI—IJ|D DI_

S /o —A = o=

@ M2H HetHI SE32 A DI:T’—EI(HI
—HISEs3H S2ASE=HII= UF

m HEXH HetHISSE=3H D :”’-*EI(HI%
—EXIDIE‘ OIttE HE 60, OOOC>J
m eI =8 SE2H A3-1-1 2&D
m WEX UstHISS =2 Al JI%E*EI(HI
—HISE33H SASIE=SHIIS s

@ H2H HHSHISSESSI A JlS2el(H

11,000,000,000
2,562,403,000

62,305,000

60,000
-28,000,000

-1,240,680,000

= 20213/ I E | 202131 H S
- AXIEA OlALY | 3K off At AE2H 2 o
= g = (A) (8)
—SE3235| ASLIIA2H| -1,735,396,000 ~1,735,396,000 &
B2 UsHSE23H JI222(HIS
—S=22357 HS2IIA24H] 1,371,986,0002 1,371,986,000
1,930,326,000 &
1264 222700 222700
IOl & & )| 2 X 2 ® Ao|XE)|2 HE
—2=3 A 0| X 2,040,000 2,040,000 &
— 2 OIHIE 3 590,000 590,000 &
® AO|&5I|2 = 220,000,000 (I 220,000,000 &
@ N2 H HEtHIS=2235H J1=2 22l (Yl
—0| K= &0 70,000 70,000 &
222,700,000 &
12,388,238 12,649,534
= ® UASHSHI| 2L (HEtREIHE
—0| &t 16,000,000 16,000,000 &
— A2 HOIME2H 4,880,0002 4,880,000
® o =SXH=IZHY HEREIHE 365,004,000 365,004,000 &
@ %OlEX-IEX-Ij|D.I-IE,I _Joolua}i
—0| &t 243,200,000 243,200,000 &
— 2O E 2 62,390,000 62,390,000 &
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%
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o = 20213/ HE | 20213 A S = roron
- AXIZ Ol A [ BXIZA Ofl AtoY T A= 2 o
= g = (A) (8)
—O0IX= 2 —14,000,0002 ~14,000,000 &
—HISE2Z5H YYEH2X)|2 NSO TEE -3 ~384,028,000 &
B2 etHiS=233H 0|2 (H s=2) 18
—HISE2Z235/H YYEH2X)|2 NSO TIEE —2 ~261,296,000 &
s:  12,388,238,000 &
1300 D& HAHA N = 2,589,068 2,425,628 163,640
1310 SEDE K ALIHCI X = 2,589,268 0,425,628 163,640
1311 - - -
£ X012l ® ‘== 1,000 1,000 &
W E2H HSHISS25|H SSARYLM2(HISE
—BHHH S 1023-1 EXI 2 S=Al 600,000,000 600,000,000
@ =21 IstHIS=2 §|J4| SSADALUA2(HISE
—EX SR HIE B —600,001,000 ~600,001,000 &
BHAI: - 9
1312 1 1 =
AS0He | ® ‘==X 1,000 1,000 &
BHA: 1,000 &
1313 1 1 -
PE20HH] ® B==3 1,0008 1,000 &
BHA: 1,000 &
1314 2,409,582 2,261,979 147,603
I H IR OH Y] ©® UEHIS=23H e s AT LAY ASASI|R 150,000,000 ¥
©® HEHIS=23H e s AT LAY ASASIIR 6,000,000
©® HEHIS=23H e s AT LAY ASASI|R 14,300,000 &
©® HEHIS=23H e s AT LAY ASASI|R 183,230,000 &
©® HEHISE23H esANIAY SRS 15,000,000 2
©® HEHIS=23H e s AN LAY ABASI|R 700,000,000 &
©® HEHISE23H esAXIAY IS DS 1,379,711,000
© MEBR NS D2 9 MBI
— IEFDI 3CH*1,000,0008! 3,000,000 &
— WA 100§%400,0002 4,000,000 2
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